Millisecond Pulsar Timing



- starting point: bunch of files, each for
10 min of observation (PSRchive)
- plot these files as:

dedispersion
before after

1012453 c023499.dat 1012453 cC23499.dat
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get rid of RF]I

1012+53  cl12BZ4.dok THZ+5S ¢
Freg: 1410.000 WHz Bi: 80520 Lengih: S19.095 S0 11,426 Fregs 14100000 WHE BW: 80, 529' I.llnql.h 419‘995 5N 32072

L
1 |I|I

| FLILLW | Il g
I ] I I | | IIIII
III I III | L] hl 1

Hllllllllll;:lllll { IIII Ill II+ | I IIIH ’lnl F!III Il:llrllIII I|ﬂ

i

Fraquancy (WHz)
1 420

Rt e
LA B el it e’ et '|'

IIIII ‘I II”IIIIII Ihll I II I| LI | III II ” rl”l

| |I ‘ |I ‘II III [ |" IIIII f1'||||| IIIIIIIII “M |I| I"IIIIII Ilillhlll .

101Z2+53 ch12BS3.dak
Freg: 1410000 MHz BW: 89,550 Lengthi 419,084+ 5,/0: 11.143

ﬂ!—i&! I:I.!H!ﬂrf

Illlllllllll [ llllll I I|II Y III i I‘I IIIIIII IIII II | HIII” 1 II e
R "I'Il:lul'l' I::lll |III| '.'I'.'.+.'.'|| kit Fu'luuul' IH' i |“”l’

ﬁ it ; E
& It II|I|”|| IIIII | |I| |I||I |II |I I|I |I |I| ||"||I||I II|
I : I "‘J' .I'?'lf'u'!'u';i'l‘f,';'!",’l;l';55'u.'u'f.u,-h"j.'lli"‘.L'u:I': AR

il
E I|||: Ill (!

Fulse Prase



- overlap and average all

observations to get one template profile
- get Times Of Arrival
- use TEMPOZ for reS|duaIs

ms = 1071.693 us) p
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playing with the parameters...

...setting the companion mass to zero in the

timing model yields: 1012453 (rms = 2472 ) post—i
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conclusions

- using timing model;
astrometric, spin- and binary
parameters

- using simulated data:
getting feeling for influence of
parameters on measurement
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